

**Treasury & Finance Administration** 

KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**



KA Finance Administration WWW.KAFinance.info Info@kafinance.info

04 January 2020

### Respected President KA Land Leader,

Kingdoms of Artiscia Treasury hosts over 100 countries. Empire lands and Supranational members. With a combined GDP of over 70 trillion there just isn't enough to support our empire and Supranational Union, as well as our international friends. Not even in our reserves and or emergency funds can we find the resources for the substances it takes to provide the quality humanitarian services we deem appropriate. With this lack it is, most obviously, the reason for such little and sparse response when one is in need. I have prepared a print and mint plan for a new currency that will solve these financial troubles.

With over one hundred countries and their citizens the KAME (Kingdoms of Artiscia Mughal Empire) covers almost 3/4 of the earth's land. It houses the majority of Asia, Europe, Africa and the Americas. Many of these lands are of the most successful in many areas of civilization and other aspects of life. While it has, the need to be a greater provider of resources has come upon us collectively. Wanting to find another way to be self-sufficient in our freedom and peace. Money and financial wealth have always been the greatest contribution the KAME can offer. By way of this means is its currency and financial treasury agenda. The treasury has an agenda which would bring every land dependent on the monarchy for stability successful financial stability. With only a five-time print and mint plan, the Kingdoms of Artiscia is prepared to unburden the whole of the empire's financial concerns. And a budget prepared to sustain all citizens into wealth as we know it giving us and estimated GDP, at the end of ten years, into centillions leaving us completely self-sufficient.

Every state needs a treasury to help it sustain its operations and population. Kingdoms of Artiscia Treasury (KAT) is meeting all its demands by preparing its own currency. Every country has its own currency. The KA (Kingdoms of Artiscia) agenda includes its own currency for the lands and citizens depending on it. With its print and mint plan, it will sustain and make every land in the KA financially independent and able to produce thriving societies.

The purpose of the KA currency is to sustain the lands within the empire, help with funding, develop societies and make quality of life and prosperity for the citizens. Each land will receive 70 trillion Atlan (\$140 trillion USD) until and unless it is able to sustain



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

KA Finance Administration WWW.KAFinance.info Info@kafinance.info

itself without the empire allowance. Monies will be placed in an account for the land and a KA banking card will be issued for use for the KA land leader to develop and resurrect his or her land for the citizens.

Without the KA currency the lands will continue us to suffer and deteriorate. No matter how much the trading takes place though out their countries there will never be enough to sustain the populations. Trading and business will always be a delusion and the wealthy businessmen/women and exploiters will always take advantage of us on many levels. With this currency implementation the empire will put everyone into perspective based on economic and financial perspective. Businesses will return to positions of business and personal income for those who are creative, and money will be in the treasuries where is it supposed to be. No longer will we be held prisoners in our own lands by those who are wealthy enough to own a business or commercial enterprise. The KA treasury will provide enough economic and financial wealth to the governments and provide enough leadership to the people. The stress of financial lack and burden of need will be released, and economic prosperity will be the new norm.

kingdoms of Artiscia print and mint agenda is a simple one. There are five print and mint operations to take place before we are sufficiently and satisfactorily stabilized financially. The final GDP total is expected to be well over centillions. The first print and mint are predictors designed to help analyze the potential expected outcome or need for its availability and acceptance by society. It has already been established trade amounts, and designs for the currency is approved as well. The only item on the list of things to do is print and mint.

With your help we can place the KAME into perspective and raise us above all others into the position of humanitarian it is designed to be as an imperial state independent. Can I count on you? Are you in?

Sincere Respect and Best Regards

Czarina Artiscia



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

KA Finance Administration WWW.KAFinance.info Info@kafinance.info

## Respected AIUNB Agreement Holders, Kingdoms of Artiscia Land Leaders and Administrators,

KA Treasury currency (Atlan and Etan) are finally ready for production. The KA treasury with its Atlan and Etan Currency (KAT) trading higher than the US dollar, Euro and the British Pound which are the highest rated currencies in all the world as been approved and accepted worldwide.

Preparing KAT, lands and their leaders for KA inclusion, policy,

The KA Treasury Currency, the KAT (exchange call sign) Final proofs are sent to Dubai and India as well as Mexico for production. The Atlan (Ę) is approved. 1Ę= \$2 USD, \$1.65 GBP, and \$1.85 EUR. Thirteen denominations, 1-75,000ę to suit our financial needs as an Imperial State in a competitive world.

The Etan ( $\in$ ): eleven different denominations, 1-450 $\in$ . 500 $\in$  = 1 $\notin$  Three different sizes, from the size of a nickel to half dollar. Three designs each for front and back. One each for single digits, double and triple. Each coin uniquely named. Metals yellow with real gold in the higher denominations.

With our economic needs I have set the highest minimum wage for unskilled labor which will prevent counterfeiting and reduce crimes of theft. It will increase prosperity in the lowest social structures of society. It will decrease lack and help balance the burden of financial responsibility for the nations in the Kingdoms of Artiscia Mughal empire.

We achieve success by striving for excellence. It's time to print and mint.

Thank you let's move forward. ~KA Monarchy



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

KA Finance Administration WWW.KAFinance.info Info@kafinance.info

# KA treasury is the most successful monetary system in history of Money

#### System

Unitarian government loans & grants, Economic sustainability, Population growth and development. Land development and preservation. Surpassing standards and exceeding expectations. KA currency and treasury is underway (notes have been designed and currency rate and amounts outlined). KA Treasury Administration Ready, body, underway. basic foundations complete. Treasury body selections underway in analysis. Operating System classified.

#### Currency

Atlan bill Etan coin

#### Trade Value

Highest in the nations It will trade higher than pound, Euro & US dollar. Currently even without being in Print and Mint it trades E1 for two and trades highest in all the lands. Egging the Euro at \$1.65 and the British pound for 1.85 per Atlan.

### Rates

Our monetary value system in original and independent. Our financial systems has a budget system and agenda which is prepared to bring success for centuries and fund all our lands. With the currency agenda in the system for a five-production plan, KAME will be satisfied and financially independent for centuries. The Treasury plan and agenda makes way for the highest wages in history. With this agenda we will be able to give our bankers & citizens better rates on monies borrowed, more return on their money in our banks, and credit companies will be able to give greater limits and larger loans to borrowers. Gone will be the days when we put financing systems in jeopardy to help someone with a financial crisis.



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

KA Finance Administration WWW.KAFinance.info Info@kafinance.info

KA Treasury has an approved budget and currency (KAT) Atlan (Ę) for paper, Ink and metals. KAT is projected to produce over Ę70Centillion and trade at the highest rates on the international exchanges. KA Treasury agenda includes its own Stock Exchange.

The First production is small amount of KAT. It will be used to distribute and begin funding the land's treasuries and budgets in the Kingdoms of Artiscia. First test: KAT Atlan on paper with ink. I need the land leaders designated to oversee the KAT print and mint to begin currency production. I have provided the production details below for the first print. And all other details.

KA Treasury (KAT ~ exchange sign)

KAT Atlan (Ę) 1Ę = \$2 USD 13 denominations 1-75,000

KAT Etan (€) 500€ = 1Ę

11 denominations, three sizes, two designs, one for each side, Six designs total.

Metal yellow with gold accents, shape octagon. Sizes, single digits nickel size, double digits quarter size, triple digits half dollar.

**1ST PRINT (TEST INTRODUCTION)** 

ATLAN.	# of Bills.	Total Ę
1.	15000.	15000
3.	4000.	12 000
10.	2000.	20000
30.	2000	60000
100.	2000.	2000000
200.	2000.	4000000
300.	2000.	600000
500.	2000.	1000000
5000.	750.	3750000
25000.	500.	12500000
75000.	250.	18750000



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

KA Finance Administration WWW.KAFinance.info Info@kafinance.info

Etan Coin	#of Coins	Total E
1€ -Pinu	4,000,000	4,000,000
5€ -Santan	6,000,000	30,000,000
10€- Shao	6,000,000	60,000,000
15 -Sadunu	1,000,000	15,000,000
50 -Naku	1,000,000	50,000,000
95€ -Junbu	1,000,000	95,000,000
90€ -Samu	1,000,000	90,000,000
100€ -Carabo	3,720,000	372,000,000
200€ -Nasara	3,720,000	744,000,000
300€ -Shana	1,250,000	375,000,000
450€ -Sadi	1,870,000	841,500,000

#### **1ST FULL PRODUCTION**

Atlan Bill	1st Month. *	3rd Month. *
1	15. T	30 Decillion.
3	25 T	15 UD
10	50 M.	7 UD
30	100 M.	750 N
100.	200 M.	500 N
300.	400 M.	250 N
500.	600 M.	160 N
5000.	3.75 B.	7 UD
25000	5.25 B.	50 D
75000.	10.25 B.	11 D



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

#### KA Finance Administration WWW.KAFinance.info Info@kafinance.info

#### **1ST FULL PRODUCTION**

Etan Coin	1st Month.	3rd Month
1€ Pinu	15 Trillion	4 billion
5€ Santan	60 Trillion	3 Billion
10€ Shao	10 Trillion	10 Billion
15€ Sadunu	10 Trillion	10 Billion
50€ Naku	10 Trillion	50 Billion
75€ Jumbu	10 Trillion	75 Billion
90€ Samu	10 Trillion	90 Billion
100€ Carabo	37 Trillion	372 Billion
200€ Nasara	37 Trillion	744 Billion
300€ Shana	12 Trillion	450 Billion
450€ Sadi	18 Trillion	841.5 Billion

#### \*Summary of Abbreviations:

Alphabet	Meaning

М	Million
Т	Trillion
В	Billion
UD	Undecillion
D	Decillion
Ν	Nonillion



**Treasury & Finance Administration** 



KA Treasury Administration WWW.KATreasury.info Info@katreasury.info

### **Currency Introduction**

Bill Amount

500

E Atlan Print Numbers

KA Finance Administration WWW.KAFinance.info Info@kafinance.info

stock #

<u>76995</u> 612455

### **Total KAT PRINT**

**1st Year** Ę14 Centillion

**2nd Year** Ę14 Centillion

**3rd Year** Ę14 Centillion

**Ę14** Centillion

**10th Year** Ę14 Centillion

#### **KA EXPENSES**

Eq.5 U Gross KA GDPEq.210 T Land leaders AllowancesEq.1 T Land MaintenanceEq.1.5 Q King's Allowance

### BUILDING

E4 Octillion KAMEI E80 Septillion AICSA E50 Septillion AICSAF E40 Septillion QSC E25 Nonillion. SimplyVille E47 Decillion. KASU

	012433
25,000	61423
75,000	78524
10,000	69857
10	64326
5,000	66513
2,000	68254
3	6479631
300	45862
30	79134
100	247950
1000	27462

#### **Production Options**

25 operations of Ę20 Tradecillion 17 operations of Ę40 Tradecillion 8.125 operations of Ę60 Tradecillion

Her Imperial Majesty Czarina Artiscia Empress

This Information and document is for the sole purpose of the Kingdoms of Artiscia Treasury currency print and mint production. Use by any other persons for any other reason not included in this document or any supporting Royal Orders is punishable by law.